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The protocol that address the differences between wired and wireless networks is 
called Ã‰..
Wi-Fi

The roaming test is an example that shows the efficiency that can be achieved using a 
chassis-based test __
platform

The primary layer 3 protocol in the internet suite is
IP

The Ã‰...technology has become popular for wireless LANs in office environment
Wireless Fidelity

The efficiency with which the devices handle key management and encryption will have 
an effect on performance measurements, such as
networking

The language of the internet is called
TCP/IP

The protocols used in wi-fi, such as WEP, TKIP and AES/CCMP, which can also 
impact throughput performance is
Encryption

The connection oriented transport protocol that sends data as anunstructured stream of 
bytes is called
TCP

Roaming is critical because it takes time, which can cause data loss that can ultimately 
disrupt a communication
session

The IEEE 802.11b standard is popularly known as
Wireless Fidelity
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